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ARITHMETIC PROGRESSIONS EXERCISE

|> The 4& Lerm of an AP s 19 and Ehe [IF Eerm is S 4.
Find Ehe €irst term a, the commen difference. d) and Ehe

Som o'F th -piqf 20 €Eerms Szo.

2) The \Collouinﬁ seqvence it an AR 91,88 3¢, 82, . .

Find the sum of term¢ Il Eo 20 jnclusive

3) The -first berm of an AP s 65-/ and Ehe common difference
i¢ =25, The rek term : 0 y (IAAJ the value of v
H S ¢ Ehe sum o€ the firgt n Lerns, Lind the

Mmagimvm valu{ Q'F Sh_

4) T"\Q rd term 01‘ Anr A_R 1< —7) 49«?’ EhLe Sum of Ehe 'Fl'rsf'
IO t(fmg IS '20_ Fpnd tL\Q- "\l.fS(' te/k'\ 4\) and bL\Q

Commen difFference Jd,

5) In an AP the £int term <« = IZ) and Ehe c¢ommon
dv€ference [ = 4. The sum of the Lirgt n Eermg

$p =400, Find n.




ARVTHMETIC PROGRESSION S

So\st for d in (D

45" term o+ 3d = 19
||th Eerm a + 0d = § 4
@ - 74 = 3§
= = 3%
D 4= 3
= d =g

a + 3¢S =19

A+ 15 =49
a = 14-1§
a = &4
Sno= 2 (24 + (n-9d)
Seo = & (z+s‘m)
Szo = )0 x 1073
$20 = 1030
Answers: a = 4 A =<

Se

@

ExErciSE

1030



©

ARyTrMETIC ProGrRESSIONS ErXERCISE
91, 8%, 8¢ 82, .. a=4l , d=-3
Sw—. 016 éth.j ” Eo 2.0 indus.-ve iS ﬁ'-vev\ 63 Szo - Slo

Sr\ = -%(244" (h-—l)}()

520 = 20/ 2x49] + l‘lx(-S))
2-

lo<')22 —5'7)

10 & 12§

f

ff

S0 = 1250

Sie = %(2*‘Il+¢!x('3))

= ¢(in —2-7)
= Fx15¢
So = 7€
g?.o -~ Sis = 120 — 777§

Slo ‘Slo - 475-

SUM o'F terms ] b 20 jaclotive = 4—75-




AR\THMETIC PrROGRESSIOENG EXERcISE

a = 6¢ A= -2.5

/

I
r& tem =o

Sice nterm = a 4 (n-1)d
& term = a a(r-)d

J. a+(r-0d =0
6S —2-5(r-1)=0
130 - §(v-1) =0
130 = Cr 4+ = O
13¢ = §r

ros 138
§

r= 227

Sh wl“ ihL(td( while h  increases Dn%"'( Eerms b(com(
hggﬁh‘ut‘ T he ’AS(’ r\on-—-htagl"lue term wi I bQ term 27
whiel i emu'\‘ te 0 Lrom £irgh P&r“ ot 7U¢S""“’"

So -C'ma( SZL or 53_7 > dwa. P&R A Lm Sn

Sw = —2"— (Za +(n - s)d} Check with S,

Sae = 3.‘?<|30 -—2-5(7-5)) AP 2_7(130-2.5'(26))
2 2

S2e = 13x67.5 $iv T 13.8 x 6§

$2¢ = ¥77.€ San = RIS

M&,&;MVP\ VA‘UQ, o‘€ gh = 877-5_




ALTHMHETIC PRoGARESSIONS

3cd term q+2d =—'7

Se = 120
Sn = %(24+(n-')4)
Sio = LZ-O_—(‘ZA +ﬁd) = lzo

> 5(2a444) = 120
2a 444 = 122 =24

<

e a +2d = 7 @

2a +ad =24 @

O x2 24 +4d =14 R
®-@ $d = 10
> d = 2

SUIOS(' 1‘;’ ﬂl ™ @
a + 2(2) =7

a+ 4 =7
a =) -4
a = 3

Answer: a = ‘s) A =2

®

EAERQISE




AyTHMETIC Pkoé—fLﬁSSloMS

a

=12, al=4-) S AY-Y.

S, = %(24_+Ch~|34) = L oo

= _s%__(z«-p +4(n—;)) = Cob

| V\(24- +4 -4.) = l2o00
4 nt 4+ 20hn — 1200 = O
h" + € — 300 =0
(h-is)(n+20) =0
= n=1S or n= o

\
A

Angwer N
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EArRERCISE

and [ 4]

ot relecvant

‘b-' % ucstl'o—n




